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SECTION - A

. Give an account of any three of the following :

20+ 20+ 20 =
(a) .Cyﬂnoﬁaderfa. 2 a3
(b) Patﬁu syndrome
(C). Cistron effect

(d) Genetic basis of recapitulaﬁon

. Describe the riicclear envelope and the structure of |

- pores. What similarities occur between the nucle

- envelope and endoplasmic reticulum ? 30 + 30 = ¢

: .DESCI‘]'.bE_ different types of radiations and chemic

miutagens used for inductions of mutations. 30 + 30 =

. What do yo.u mean by adaptive radiations ? Explain th

Phenomenon by citing example of some mesozo

-  animals. ] e -.20+40=6

" (a) Pinocytosis

S_ECTI-QN -B

Give an account of any three of the following :

20 + 20 + 20 = B

(b) 'Nucfebproteins :
(¢) Respiratory pigments
(d) Retrogressive metamorphosis

(2)
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- What is Krebs Cycle ? Discuss it in detail. 30 + 30 = 60

A Wh_at are neurotransmitters ?. Give an account of the
mechanism of conduction ‘along axon and across’
_ Synapses. o - -20 +40 =60

- Describe various types of eggs and cleavage found in .
chordateq ; » : 30 + 30 60 3%
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